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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)
(i)
(iii)
(iv)
o)
(i)
(vii)
(viii)

(ix)

)

31/2/3

The question paper comprises two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no choice in any of the questions.

All questions of Section A and all questions of Section B are 1o be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each. |

Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each. |
Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.

5
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AT — 37
- SECTION — A -
1. e il @ goeE Se R e | 1

What is a homologous series of carbon compounds ?

2, W%Fﬂﬁﬁaﬂﬁﬂamﬁﬁﬁm? 1

Why is fertilization not possible without pollination ?

3. WARIESRI Wl (CFC) %1 anfeer Swaht faw s fosa i 812 | | 1

Why is excessive use of CFCs a cause of concern ?

4, T el g9or §RT Sea— ek e +3 ¥ | 59 A o favetvor wifsw T () <dor %
TR TR (i) SUOT 3 gor o Wi ferre s Reafer o1 Seor wifwie | 39 Refa § fafes =30
T & e ToRoT 3R @it | 2

The linear magnification produced by a spherical mirror is +3. Analyse this value and
state the (1) type of mirror and (i1) position of the object with respect to the pole of the
mirror. Draw ray diagram to show the formation of image in this case.

5. ol ol &fd % 9R HRON B gt §=6T | | 2

List four causes of damage to forests.

6.  wuifte faeh w1 ¥ 2 36 31 wE 3w fakay | 2

What is sustainable development ? State its two main objectives.

7. e A P T & s ¥ | e P el K,Cr,0, % @ afafear s
FIE I AMRE QS € | 59 ‘Q’ W AW HT THST Sl ST &, «f Hig T R’
frperdt 3, ST O w87 & WY et & | P, Q 9T R W UEEN WINT o ' aelt
sifesparait 3 T e o R | | -3
An organic compound ‘P’ is a constituent of wine. P on reacting with acidified
K,Cr,0, forms another -compound ‘Q’. When a piece of sodium is added to ‘Q’ a gas

‘R’ evolves which burns with a pop sound. Identify P, Q and R and write the chemical
equations of the reactions involved.

31/2/3 3 ' [P.T.O.
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10.

39 ST A F AW SR 3] g fofae, T T % 9 e Sier e ¢ S
fereds 7o) A < A WA € | 9% T e 3 T e e i €, o T difes antie Wik
H,S0, ¥ e i fFar S , Y Hfer e wisr fefeg ot = o v
Sear &1 A fefen | g siffmar § Wig H,S0,, #t ik %1 Stei@ s i |

Write the name and molecular formula of an organic compound having its name
suffixed with ‘o’ and having two carbon atoms in its molecule. Write balanced

chemical equation to indicate what happens when this compound is heated with excess
conc. H,S0, and the name of main product formed. Also state the role of conc. H,80,

in the reaction.

T} el *X” ol TR WEAT 19 7 |
(a) THH TR o= faray | _
(b) T R Sy ST WU 3 fee o ¥ R @ U ! Saiomal o § 7

(©) afs X RS TR ¥ FT T i § e S ¥, @ 39 i 9t

WE&'IWM
S, ERIT SrET ST 7

() Wwﬁmaﬁaﬁﬁﬂmw%ﬁﬁﬁﬁaﬁmﬁmwﬁjﬁﬂwﬁw

FrifeRtoT fefae |

K. 0 47 4 O —akp 9
The atomic number of an element ‘X is 19. L ¢
(a) Write its electronic configuration.

(b) To which period of the Modern Periodic Table does it belong and what is its
valency ?

(¢) If ‘X’ burns in oxygen to form its oxide, what will be its nature — acidic, basic or
neutral ?

o _ o
(d)\ Write balanced chemical equation for the reaction when this oxide is dissolved

in water,

s st wRoR 3 () P e S, Gi) R et 3 el s e w5 v e
YR R it & ST S 2

How does the tendency of the elements to ose electrons change in the Modern
Periodic Table in (i) a group, (ii) a period and why ?

3123 ' 4
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(a) RARET S i e S § 2

(b) T 3 qofer: Foerfa TRt g wate o @ ST 2

(c) ufRuea T T TRRAET % 7T & 3
What happens when

(a) Planaria gets cut into two pieces ?

(b_) A mature spirogyra filament attains considerable length ? K6 +H o
(c) On maturation sporangia burst ? : :.{

1 KO T s X0y
12. (a) WFE TS o F A9 Ry e i =t ftre fofee

G T

@) FITHRT

(i) YpRaTeRt

(iv) AR
(b) TR =i T yfwE FE 2 , 3
(@) Mention the role of the following organs of human male reproductive system :

(i) Testis; (ii) Scrotum; (iii) Vas deferens; (iv) Prostate glands.

@ ‘What are the two roles of testosterone ?

13, WRTIOT T 7 T A WHRI B G TR 41 G QAT A REARRT T 0T H IeohE
P | | 3

St

What is Pollination ? List its two types,aﬁd write a distinguishing feature between the
two.

31/2/3 5 [P.T.O.
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T e ot HIfTT | | 3

List three factors that provide evidences in favour of evolution in organisms and state

the role of each in brief.-

15. WWWWWH#W&I@&EQW%W%WWW TSRS TR0
Tt TENT I AT HIT | 3

Explain Mendel’s experiment with peas on inheritance of characters considering only
one visible contrasting character.

16. 1 T 7T v @I S g swEr St -
() YERT % 9oy A T v @i ¥ |
(i) e % W G Yo e e ¥ |
(i) SieranEh ® s et F W W e T Sy | . 3.

Explain in brief the reason for each of the following :
(1)  The sun appears reddish during sun-rise.
(i) At noon the sun appears white.

(i) To an astronaut the sky appears dark instead of blue.

17. i et i g, R 2 foeh ot Ry % for e @ et o s oo, < i
BT S &, T T B TP T IoehE BN | SR I B GRE % v wemrer 0T S
@it | afs 70 wer % fot ofw Bt wiew g 7 a7l W 20 em &, at 99 FEig gRue
% STHR T SIaT I T | | 3

If the image formed by a lens for all positions of the object placed in front of it is
always virtual, erect and diminished, state the type of the lens. Draw a ray diagram in
support of your answer. If the numerical value of focal length of such a lens is 20 cm,

find its power in new cartesian sign conventions.

31/2/3 6
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Wﬁﬁuﬁﬁrﬁ;ﬁm%ﬁw&ﬂﬂfmmmﬂﬁwﬁw#wamw
Siraredt St %t s=q % SR d PCRA @WWWW%W@H@H
=4 Wl | S H A & W, R g @ e, e s @ d | 2w faee w
ST AT S o, Sr T SO At d $9 S e w5 geE R |

ORI TN Bl TS o ITEI e KU T Wl % I S

(a) wmmw%MﬁﬁWWﬁww%o .
(b) et de <8 s 35 et ) e 9 g+ %o
(c) =T ERT YR <1 gl T Seoid Hivg | 3

While discussing about coal and petroleum a teacher told his students about PCRA’s
(Petroleum Conservation Research Association) guidelines to save the fossil fuels
while driving vehicles. Deepa was going to her school with her mother who was
driving car. At the traffic signal, when the light was red, Deepa suggested her mother

to switch off the engine.

After reading the above passage, answer the following questions :

(a) Fossil fuels are natural resources, then why do we need to conserve them ?
(b) List any two ways of saving the fossil fuels.

(¢) State two values exhibited by Deepa.

(2) WIS HIRT S T % <4 e 1w 3t 3 it st deiy o Seeta it
HUSRE, el g, T
(b) TEEH GRIE™) T Q ? IF HI B & ? 5

(a) State in brief the functions of the following organs in the human female

reproductive system :
Ovary, Fallopian tube, Uterus

(b) What is menstruation ? Why does it occur ?

7 [P.T.O.
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20. Prrder T £ 1 w1 3 e om0 9F R R § 2 o A i o7 feremat & e of
firdter 7 2GR Seorg HifTe 7 e w1 fwior R TR s § dell deEl sl wE
A WETEF B § | g
What are micelles ? Why does it form when soap is added to water ? Will a micelle be

formed in other solvents such as ethanol also ? State briefly how the formation of

micelles help to clean the clothes having oily spots.

21, Sheren w9 3 PR TR oW § 0 Shert @ oy PR s @ o TR e g
TIRT |ﬁmmﬂgﬁmmﬁﬁﬁm%nﬁaﬁﬁﬁqﬁwaﬁﬁqi 3
What are fossils ? How are they formed ? List two methods of determining the age of

fossils. Explain in brief the importance of fossils in deciding the evolutionary

relatrionships.

2 6 om 59 Redt frE ® 20 cm BT G & FedT see o @ Reat g0 W fer wT
ST SR S A 15 cm Q0 W 2 T Al vt e o i S | |
s Feafer 3 o w0 Wit s < o forg o s @ife ofic iR ot i 1S
At what distance from a concave lens of focal length 20 cm a 6 cm tall object be

placed so as to obtain its image at 15 cm from the lens ? Also calculate the size of the

image formed.

Draw a ray diagram to justify your answer for the above situation and label it.

23. (a) A VT o feredor =R ¥ 9 gt HROT fAiET |
(b)  “THES G uhe % AT TS S § T A, I H
TR @ S TR S A e w0 B | Rl T % e ¥
g Savass vl i YAt ST | 5
(a) What is dispersion of white light ? Stae its cause.
(b) “Rainbow is an example of dispersion of sunlight.” Justify this statement by

explaining, with the help of a labelled diagram, the formation of a rainbow in the

sky. List two essential conditions for observing a rainbow.

31/2/3 8
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24, T SANT SMTqS OI T SHerel gUUT A, B 3R C ¥ R S gREl shAst: 10 em, 15 cm
3T 20 em ¥ | 2T v qdvT % ey faa w6 gdor g, o fafie faegRar 10 em, 20 em
3T 30 cm & Fw, wfafea 9 3R & fog vE o § | RoT afg |9 R T aet &
Eﬂ'{'w: -

(a) = faf - gREt & fora qdoreduil =t wgefTe St 1 STTee ST wfkieal ST |
(b) T A Sdui F ¥ 30 v FEw 99 SRAE-T & w9 & e miea &
S |

(¢) =W B ERT o @ 10 cm 3R 20 em 3 fore foredt forar i wifwforar s 3w o ferw
fator mw @ity | 5

Suppose you have three concave mirrors A, B and C of focal 1engths 10 cm, 15 cm and
20 cm. For each concave mirror you perform the experiment of image formation for
“three values of object distance of 10 cm, 20 cm and 30 cm. Giving reason answer the
following :

(a) For the three object distances, identify the mirror/mirrors which will form an
image of magnification — 1.

(b) Out of the three mirrors idenﬁfy the mirror which would be preferred to be used
for shaving purposes/makeup.

(¢) For the mirror B draw ray diagram for image formation for object distances
10 om and 20 cm.
' B = FE = IS A
AT -W
SECTION - B

25. w2t F TIOR, e, IEE, e, TRT AR A W § 1 T ¥ S gEei
et e e €2

(a) TSR, T SN 3]

(b) TSR ST TR

(c) TSR, 3] S ZHIT

(d) S SR e 1

A basket of vegetables contains Carrot, Potato, Sweet potato, Radish, Tomato and
Brinjal. Which of them represent the homologous structures ?

(a) Carrot, sweet potato and potato
(b): Radish and carrot-
(c) Carrot, potato and tomato
(d) Brinjal and radish
31/2/3 | 9 [P.T.O.
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26. ﬁﬁﬁ%ﬁmﬁ%ﬁwﬁwﬁaﬁmﬁmaﬂwaﬁf@ﬁm%mﬁaﬂ%m
25 Seor s o Rt T |

@ s o 3w |
(b) i e s e & SR Akl
(c) feraforer BT e S Taet ST Y 3T S @ € |
(@ ﬁaﬁﬁmm%ﬁ%mﬁﬁ@wﬁ%i 1
In an experiment' to trace the path of a ray of light through a triangular glass prism, a
- student would observe that' the emergent ray
(a) is parallel to the incident ray.
(b) is along the same direction of incident ray.
(©) gc;ats deviated and bends towards the thinner part of the prism.

(&) gets deviated and bends towards the thicker part (base) of the prism.

L7 el e o el S e % e R oo R R SR e
%luﬁmmaﬁ@ﬁ1,2,3@4ﬁaﬁmmﬁmww€,?ﬁzi,4e,zr aqer
mmwﬁmwﬁm?

(a 2, 1,3,4
(b) 1,2,3,4
© 1,3,2,4
@ 1,3,4,2 | 1

31/2/3 - 10
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A student has traced the path of a ray of light through a glass slab as follows. If you

are asked to label 1, 2, 3 and 4, the correct sequencing of labeling Zi, Ze, Zr and
lateral displacement respectively is :

(@ 2,1,3,4
b) 1,2,3,4 i
(&) . 1.3,2.4
d 1,3,4,2

28. Bl ¥ Rrerch weled gRT et gttt siivt & yqor 3 fafirr wmit @ srere ot & R e
T | R T AR % $8 evae 1o R e E
A, ST s At wE Rl et e v s S
B. il SISt ot hiesht WfeTT 3T g6eh = umit =7 Sepor ifRvTe |
C. UEifew ¥ 38 @y sie A |
D. ey st @ frr i, el wug @ S A efRT ok T R oR A W

g |
3 TN ST AL HH T
(a C,A,D,B
(b) C,D,A,B
() A,CD,B
(d A,C,B,D 1

The students of a class were asked by the teacher to study the different parts of an
embryo of an angiosperm. Given below are the essential steps for the experiment :

Soak the seeds in plain water and keep them overnight.

Cut open the soaked seed and observe its different parts.

Take some healthy seeds in a petri-dish.

Drain the excess water, cover the seeds with a wet cotton cloth and leave them as
it is for a day.

The correct sequence of these steps is

0wy

(a) C,A,D,B
(b) C,D,A,B
() A,C,D,B
d A,C,B,D
31/2/3 11 [P.T.O.
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20. HH BT e H WIET T5 ST % TAC @ ¥ o6 Wi W e o o g S 6
SoT & | 98 T T R Eie S PR Swer 39 Sl % i way S € S o g &

(a) oW ®
(b) AXFTAE
(c) twswId
(d) deTE" 1
A student is testing water to know which is best for cleansing purposes with soaps. He -
would find that the cleansing action of soaps is best when he uses water obtained from
(a) rain '
(b)) tap
(¢) hand pump
(d) pond-

30. Frefefed W foer Fifa ;
) et s
() W
(1) TRUA = T
1) e
(V) S=El @ aer
(VD) et &1 ae
T R FeprepT ST W S B fo < e @ 2
(a) L ILIIL VI
(b) 1LV, VI
(¢) ILILV,VI
(d 1L III, VI 1
Consider the following oils : |
(I Mobil oil
(II) Castor oil
(1I1) Turpentine oil
(IV) Kerosene
(V) Mustard oil
(VD) Coconut oil
Which of these can be used for preparation of soap ?
(@ I ILII, VI |
b IV, VI
(¢) ILII,V,VI
(@ IL IIL, VI

31/2/3 12
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31, EUR R IUENT T ST oot afrenisr QigHT o Sudih €9 oo e ¥ -
(a) Witsaw FARES |
(b) URREH TGRS
(c) ifeaw FregirEs .
(d) uRRE FRES . . 1
The chemical mostly used in the preparation of most of the soaps we use is
(@) Sodium chloride |
(b) Potassium hydroxide
(c) Sodium hydroxide

(d) Potassium chloride

32. i O fhdr g X @t hid T4, fdt o T & wfafersr @ faver =t & R |, g
R 20 om g0 T R O W IR e e e § | g X ¥ - '

(a) 10mqﬁm§&mwﬁv

(b) | 20 cm HIHT T & IAA AW

(€) 10 cm HIhE T T e JY0T

(d) 20 cm FHT G I SEwe T ' 1

A student determines the focal length of a device ‘X’ by focusing the image of a
distant object on a screen placed 20 cm from the device on the same side as the object.
The device ‘X’ is ki ?;oAmQ !, WIS
(a) Concave lens of focal length 10 cm |

(b) Convex lens of focal length 20 cm

(c) Concave mirror of focal length 10 cm

(d) Concave mirror of focal length 20 cm

31/2/3 13 . [P.T.O.
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33. T T WRIRT 15.cm BT T & IU6T 0iF Sl WU § I WSk aF 9T 42.7 cm
Tt W W@ § SR 9R BEf A, B, C 3t D ¥ W &t wenilves o w3y fefe ot s wwan
@ﬁ%mm%mw@wﬁwwwuﬁmﬁwgmémﬁms
IRI B FRT aArr i et 59 W

A. 12.7cm

B. 29.7cm

C. 577cm

D. 727cm

13 %t wel Fefa g aren o &

w S NVis
() B | | “S3 7 132
© ¢

d D . | 1

A teacher sets up the stand carrying a convex lens of focal length 15 cm at 42.7 cm
mark on the optical bench. He asks four students A, B, C and D to suggest the position
of screen on the optical bench so that a distinct image of a distant tree is obtained

almost immediately on it. The positions suggested by the students were as :

A. 127cm - Y213

"B. 297cm | T F-m3
C. 5%j7am
D. 727cm

The correct position of the screen was suggested by

(@ A
(b) B
(¢ C
d D

317213 . 14
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| T % v W T R gRal & fe s gfelt I A & wE § 9K e

15 cm e G T Sl O ST et S foer Bt o § 20 om T v & SCSH
T W S AT & | S IvE 9% e o dRdR o @ ) e § ol AN
s ol o TR P R | |

(a) ViR 1 B B % T o8 0 ot REE SR ST ¥ - S S s o o
e

(b) ifciferer & wrest # T IR @il © 2 | 3
(c) o & T fobertt g OF T O ferwr o —1 ST bt wfciferest ST & ¥ 2

(d) Eﬁ-ﬁﬂﬁﬁﬁﬁ@gwtﬁwaﬁnﬁﬁﬁﬁﬁmﬁmwﬂ%m&aﬁﬁmu L

¥ ' 4 — S (A = =LY 0
( By |

To find the image distance for varying object distances in case of a convex lens of

focal length 15 cm, a student obtains on a screen a sharp image of a bright object by
placing it at 20 cm distance from the lens. After that he gradually moves the object

away from the lens and each time focuses the image on the screen.

" (@) In which direction-towards or away from the lens does he move the screen to

focus the object ? L. = = W

1S ;,-i)
1

(b) How does the size of image change ? : =

(c) Approximately at what distance does he obtain the image of magnification -1 7 -

(d) How does the intensity of image change as the object moves farther and farther

away from the lens ?

it om aﬁﬁﬁmﬁmﬁﬁﬁﬁﬂ?m%mﬁaﬂ FHFA W T E | A
%Wﬁﬁmﬁwﬁﬁ@mﬁ%ﬁmﬂa@ o e §
foramr =feT |

A studetit is studying the properties of acetic acid in his school laboratory. List two

physical and two chemical properties which he must observe and note in his record

book.

1
[ o
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36. wﬂ#maﬁﬁwm%ﬁmﬁmw#ddﬂﬁrmaﬁ%ﬁrwm feerea Tt
g ST ¥ 7 3 ST B g % few sw ufear s em aﬁraﬁwmaﬁ@aﬁwwﬂtm |
3G HEAT T Ie01@ DI WT EY I8 Ul ARDT B & | 2

In which asexual reproduction two individuals are formed from a single parent and the
parental identity is lost ? Draw the initial and the final stages of this type of

reproduction to justify your answer. Write the event with which this process starts.

31/2/3 16
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